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Overview
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Last one with CS>0.5 and pionIlD>0.5 cuts in control sample



A 4.,(7r) closure-test with MC

. Consider BY — 77 7" decays

A 4(r) = —0.0002 £ 0.0013 (target).
~2.67 0 away

. DT > Kgﬂ'+ control channel (no cut on pid and CS)

A 4o(m) = 0.0053 £ 0.0016 (start value).



A 4.,(7r) closure-test with MC
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A 4.,(7r) closure-test with MC

o target — corrected

O =
\/ (Atarget)? + (Acorrected)?
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A 4.,(7r) closure-test with MC

No. of events in a bin of CDC hits of target sample

Bin of CDC hits Fraction
20 < hits < 34 0.0456
""""""""""""""" s4<-hits<43 | 00976
"""""""""""""" B<hits<d7 | 01016
""""""""""""""" A7<=hits<do | oirar
""""""""""""""" s9<-hits<5t | ofee2
""""""""""""""" St<-hits<54 | 0216
""""""""""""""""""""" s4<-hts | o076

Total events

of , (7) = 0.0137 £ 0.0016

(after correction with momentum and
polar angle)

o () = —0.0002 = 0.0013 (target)
(integrated)

DISAGGREMENT



A 4.,(7r) closure-test with MC

Bin of CDC hits Fraction
20 < hits < 34 0.0456
""""""""""""""" s4<-hits<43 | 00976
"""""""""""""" B<hits<d7 | 01016
""""""""""""""" A7<=hits<do | oirar
""""""""""""""" s9<-hits<5t | ofee2
""""""""""""""" St<-hits<54 | 0216
""""""""""""""""""""" s4<-hts | o076

No. of events in a bin of CDC hits of target sample

Total events

Calculated by &/ det — Z 0o/ bin bein

A () = 0.0040 £ 0.0016 (start value)

of , (m) = 0.0137 £ 0.0016

(after correction with momentum and
polar angle)

A 3.(r) = — 0.0002 £ 0.0012 (target)

DISAGGREMENT



A 4.,(7r) closure-test with MC

. Consider BY — 77 7" decays

A 4(r) = —0.0002 £ 0.0013 (target). ~2.76 away
. DT > Kgyﬁ control channel (pionID>0.5 and CS>0.5)

A 4.(r) = 0.0080 = 0.0027 (start value).



A 4.,(7r) closure-test with MC
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A 4.,(7r) closure-test with MC
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A 4.,(7r) closure-test with MC

Bin of CDC hits Fraction
20 < hits < 40 0.0882
""""""""""""""" W<hts<as | oirel
""""""""""""""" <ehis<ds | o2as
""""""""""""""" wehits<st | ote2
""""""""""""""" Stehts<ss | ot
"""""""""""""""""""" ss<hts | otss
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No. of events in a bin of CDC hits of target sample

Total events

of , (7) = 0.0236 £ 0.0027

(after correction with momentum and
polar angle)

o () = —0.0002 = 0.0013 (target)
(integrated)

DISAGGREMENT



A 4.,(7r) closure-test with MC

Bin of CDC hits Fraction
20 < hits < 40 0.0882
""""""""""""""" W<hts<as | oirel
""""""""""""""" <ehis<ds | o2as
""""""""""""""" wehits<st | ote2
""""""""""""""" Stehts<ss | ot
"""""""""""""""""""" ss<hts | otss

No. of events in a bin of CDC hits of target sample

Total events

Calculated by &/ det — Z 0o/ bin bein

A . () = 0.0073 = 0.0027 (start value)

o , (m) = 0.0236 % 0.0027

(after correction with momentum and
polar angle)

A 3.(r) = — 0.0002 £ 0.0012 (target)

DISAGGREMENT
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Candidates per 0.05 GeV/c

Candidates per 0.05 GeV/c

p . distribution

Bin1: 20 < hits < 40
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Bin4: 49 < hits < 51
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Bin2: 40 < hits < 46
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Bin5: 51 < hits < 53
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cos_(0) distribution

Bin1: 20 < hits < 40 Bin2: 40 < hits < 46 Bin3: 46 < hits < 49
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